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ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours 	 Maximum Marks : 50 

(Weightage 70%) 

Note : Attempt any two questions from Section - A and any 

two questions from Section - B. 

SECTION - A 

1. Describe the objectives of cost accounting. In what 4+6 
way does cost accounting differ from financial 
accounting ? 

2. (a) Explain with the help of examples, the 5+5 
classification of costs on the basis of 
identifiability with the products. 

(b) What do you mean by perpetual inventory 
system ? State any three advantages of this 
system. 

3. Write short notes on any two of the following : 5+5 
(a) Labour Turnover Rate 
(b) Reordering Level 
(c) Disposal of underabsorption and 

overabsorption of factory overheads 
(d) Memorandum Reconciliation Account 

cc 
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SECTION - B 

4. 	With the help of the following information from 15 
the cost of records of a manufacturing firm for a 
product for a year, as certain (a) Total cost of 
production, (b) Cost of goods sold, (c) Cost of 
sales and (d) Net profit for the year as well as per 
ton. 

Rs. 
Purchase of raw materials 	12,00,000 
Factory Rent and Insurance 	80,000 
Carriage Inwards 	 14,400 
Other factory overheads 	4,00,000 
Direct wages 	 6,00,000 
Stock at the beginning 
Raw materials 	 2,00,000 
Finished Goods (1000 tons) 	1,50,000 
Administrative overheads 	2,84,000 
Sales 	 29,90,000 
Stock at the end 
Raw materials 	 2,22,400 
Finished Goods (2000 tons) 

There was no stock of work in progress either at 
the beginning or at the end. Advertising and other 
selling costs were Rs.10 per ton sold. During the 
year 16,000 tons of the product was produced. 
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5. 	(a) From the following information, compute : 
(i) Reorder Quantity 
(ii) Reorder Level 
(iii) Maximum Stock Level and 
(iv) Minimum Stock Level 
Annual usage was 30,000 units, cost of 
materials per unit Rs. 3, cost of placing an 
order Rs. 20, annual carrying cost of one 
unit 20% of inventory value and time 
required for delivery 1 to 2 months. Normal 
consumption 2,500 units per month. 
Maximum consumption 3,000 units per 
month and Minimum consumption 2,000 
units per month. 

(b) What do you mean by normal and 
abnormal process losses ? How do you 
account for these losses in cost accounts ? 
Explain briefly. 

9+6 

6. 	(a) The production department of a factory 9+6 
gives the following information for a month 
of the current accounting year : 
Materials used Rs. 1,08,000; Direct wages 
Rs. 90,000; Factory overheads Rs. 72,000; 
Labour hours worked 72,000 and Machine 
hours worked 60,000. For an order executed 
during the month, the following 
information was recorded : 
Materials used Rs. 12,000; Direct wages 
Rs. 6,400; Labour hours worked 6,400 and 
Machine hours worked 4,800. 
Compute the Overhead Absorption Rates 
and prepare a statement showing cost of the 
job under : 
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(i) Direct Materials Cost Method 
(ii) Direct Labour Cost Method 
(iii) Labour Hour Rate and 
(iv) Machine Hour Rate 

(b) The standard time allowed to complete a 
job is 100 hours and the hourly rate of wage 
payment is Rs. 50. The actual time taken by 
a worker to complete the Job is 80 hours. 
Compute the total wages of the worker 
under : 
(i) Halsey Plan and 
(ii) Rowan Plan 
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